PRACTICE ASSINGMENT
SUB-  Maths									CLASS-2
Chapter- 4 		SUBTRACTION
Facts of subtraction:-
 • The result of subtraction is called difference. 
• In a subtraction sum, the number to be subtracted is called subtrahend, and the number from which we subtract is called minuend.
 Eg. 9 – 5 = 4 Here 9 is the minuend, 5 is the subtrahend, and 4 is the difference.
 • If we subtract 0 from any number, the difference is the number itself.
 Eg. 14 – 0 = 14 265 – 0 = 265 
• If we subtract 1 from any number the difference is the number just before it, called its predecessor. 
Eg. 25 – 1 = 24 762 – 1 = 761
 • When a number is subtracted from itself, we get 0.
 Eg. 16 – 16 = 0 312 – 312= 0
1. Fill in the blanks:
a. 28 – 1	 = 
b.  35 – 35	= 
c. 64 – 0	=
d.  22 – 22	=
e. 65 – 1	=
f. 19 – 0	=
 Ans. a) 27 b) 0 c) 64 d) 0 e) 64 f) 19
2. Subtract the following.
a. 536 – 5 = 531 					b. 458 – 8 =450
H	T	O						H	T	O
5	3	6	4	5	8

-		5						-		8
5	3	1						4	5	0
c. 489 – 45 = 444					 d. 257 – 45 = 212

H	T	O						H	T	O
4	8	9						2	5	7
-	4	5						-	4	5
4	4	4						2	1	2
e. 865 – 451= 414					 f. 812 – 151= 661
H	T	O						H	T	O
8	6	5						8	1	2
-4	5	1						-1	5	1
4	1	4						6	6	1



3. Subtract the following by using expanded form.
1. 477 =   400 + 70 + 7			2.526 =   500 + 20 + 6
   -116 = - 100 + 10 + 6			  -215 = - 200 + 10 + 5
    361 =	300 + 60 + 1		      	   311=    300 + 10 + 1
4. Word problem:
a. Sonia had 24 sketch pens. She distributed 13 of them among her friends. How many sketch pens are left with Sonia?
T O 
Total no. of sketch pens Sonia had		=	 2 4
 No. of sketch pens she distributed		= - 	 1 3
 No. of sketch pens left with her		=	 1 1

b. There are 58 seats in a bus . 15 seats are unoccupied. How many seats are occupied?
T O 
Total no. of seats in the bus			=	 5 8
 No. of unoccupied seats				= - 	 1 5
 No. of occupied seats				= 	 4 3
5. learn and write table of 7
7X1=7
7X2=14
7X3=21
7X4=28
7X5=35
7X6=42
7X7=49
7X8=56
7X9=63
7X10=70


